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A pile of burning embers has a temperature of 927°C' and a surface area A pile of burning embers has a temperature of 927°C' and a surface area
of 0.006m?. The emissivity of the embers is 0.85. At what rate is energy of 0.006m?. The emissivity of the embers is 0.85. At what rate is energy
emitted from the fire as radiation? emitted from the fire as radiation?

The Stefan-Boltzmann constant is 5.67 x 10*8%. The Stefan-Boltzmann constant is 5.67 x 10*8%.



The temperture is T' = 927°C + 273C° = 1200K.

@ = g AeT?
dt

= (5.67 x 1078 ) (0.006m?)(0.85)(1200K)*

m2K+4

= 600W



